
Super Teacher Worksheets - www.superteacherworksheets.com

Oliver has $12. He buys a book for $7.
Then his grandma gives him $2 more.
How much money does Oliver have now?

Name: 

Daily Word Problem

Show your work.

answer: ____________________

B-31 Addition & Subtraction 
with Money

Multi-
Step



answer: ____________________

Daily Word Problem
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Some pears were in a bowl. Noah added 3 more.
Now there are 7 pears in the bowl. How many 
pears were in the bowl before Noah added 3 
more?

Name: B-32 Addition &
Subtraction

Single-
Step

Show your work.



Daily Word Problem
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answer: ____________________

Rhett and Piper have toy cars.
Rhett has 6 blue cars and 5 black cars.
Piper has 8 red cars, 1 blue car, and 3 green cars.
How many more cars does Piper have than 
Rhett?

Name: 

Show your work.

B-33 Addition &
Subtraction

Multi-
Step



Daily Word Problem
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answer: ____________________

Amma has 9 books. This is 3 more than Rudy has.
How many books does Rudy have?

Name: 

Show your work.

B-34 Addition &
Subtraction

Single-
Step



Daily Word Problem

Super Teacher Worksheets - www.superteacherworksheets.com

answer: ____________________

7 boys and 7 girls were at the playground.
Then 5 children went home.
How many children were still at the playground?

Name: 

Show your work.

B-35 Addition &
Subtraction

Multi-
Step
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Daily Word Problem

ANSWERSB-31 through B-35

answer: ____________________

7 boys and 7 girls were at the playground.
Then 5 children went home.
How many children were still at the playground?

Show your work.

answer: ____________________

Amma has 9 books. This is 3 more than Rudy has.
How many books does Rudy have?

Show your work.

answer: ____________________

Rhett and Piper have toy cars.
Rhett has 6 blue cars and 5 black cars.
Piper has 8 red cars, 1 blue car, and 3 green cars.
How many more cars does Piper have than 
Rhett?

Show your work.

answer: ____________________

Some pears were in a bowl. Noah added 3 more.
Now there are 7 pears in the bowl. How many 
pears were in the bowl before Noah added 3 
more?

Show your work.

Oliver has $12. He buys a book for $7.
Then his grandma gives him $2 more.
How much money does Oliver have now?

Show your work.

answer: ____________________$7 4 pears

6 books 9 children

1 car

12 -- 7 = 5
7 -- 3 = 4

6 + 5 = 11

9 -- 3 = 6
7 + 7 = 14

8 + 1 + 3 = 12
12 -- 11 = 1

14 -- 5 = 9

5 + 2 = 7


